Snoukey

ASME . CE-PED. GBstandard
Ammonia Pressure Vessel

FUJIAN SNOWMAN CO., LTD

Address: Dongshan Road, Minjiangkou Industrial District, Fujian, China
TEL- 0691~ 28701111

FAX: 05891 - 28709222

Website: www.snowkey.com

Email: info@snowkey.com

Distributor:

Fujian Snowman Co., Ltd will not be responsible for any potential error or inapplicable data used as marketing materials, the

technical data of product is subject to the contract or technical attachment.
Fujian Snowman Co., Ltd reserves the right of changing the product prior to notification.

Version 1, March 2016



People's Republ

]

| ik \ R F0E
5 H IR &R AT NE

Design License of Special Equipment
lic of China

thig A R FE
SR % BV ATIE

Manufacture License of Special Equipment

( Peaple's Tgpﬁhﬁ;égt “hina

EEERSUSERELAN

EEARSUSREELEN

Pressure Vessels Design License
(D1, D2)

Pressure Vessels Manufacturing License

(D1, D2)

% ] CERTIFICATE OF
L% AUTHORIZATION

The named company i ssthorised by the Amescan Secety of Mechanical Enginess
CASMEE} o the wcope of Bctiety shown belw in sccordance wih e appbcatsh rsies o
the Ve

:
= OMP AN
a Fugan Snowman Co . Lid.
3 5301 Read, Songsia Tewn
wi artvona Binhual indtrial Distric:
hau City, Fugian Province 180217
Peopia's Republ of China
BLOPE
T oty
=
=
F—d
2
[*]
Q
w
AUTHORIZED Fabnsary 12, 1013
EXPRES Fabreary 12, 2018
CERTIFICATE NUMBER. 44,540
< pai=s
L)
=
= Wicw Provadeet, Conformity Astevieent
- £, 0
é’@ Pz i ((gé
(i} e, Eontormity Assssarmant

CERTIFICATE OF
AUTHORIZATION
s

Fiapablic of China
SCOPE:
AUTHORIZED: Fabraary 19, 2018
EXPIRES: Febraary 11, 1016

CERTIFIGATE MUMBER: 44,548

The American Society of Mechanical Engineers

| &y dist
©X3

Dwectar, Conformity Asbessment

b *g AR
i‘*j LT EE

CERTIFICATE OF WONKS APPROVAL

[T

- L g ELL ]

ASME Certificate (U)

ASME Certificate (UM)

Fishery Inspection Certificate

Catalog

Name Page

Company Profilg ------see e 01-02
AMMONIA RECEIVEIS «---=srrmmmmmmee e 03-04
Seeone] ANMERIE [RECEMEIRS crrosrommmececcrrroronesareeeeeeccceroo oo 05-06
(0 [0 | = 0 T 07-08
Vertical LP Recirculator VEssels «-----sxeesmmrmeermmrmeceeiiececiieceeee oo 09-14
Horizontal LP Recirculator Vessels «-----x---sremmmmammemaremeieeceee 15-16
Vertical Liquid Separators «-----=-=-s==xmmmemmmm e 17-18
Horizontal Liquid Separators -« 19-20
Manual Air SEparators --------=xsessemmmmm e 21

Emergency Ammonia Discharging Device «----------seememmmmmemaaeeee 22

Horizontal LP Oil COIECtOrS «---nmmmm e 23-24
Ol SEPArators --=--=r==rmsrrmrr 25-26

Recirculator Packages (Surge Drum Packages) «-----------=--=-==zzmmnee 27-30



COMPANY COMPANY
sna"',(eq | INTRODUCTION INTRODUCTION | SnDll.l(ElI

Fujian Snowman Co. Ltd was established in March 2000 and public-listed on

the Shenzhen Stock Exchange in Dec.2011 year.(stock code:002639).

Our company focuses on innovation in technology and has built 6 technology
research centers worldwide, 3 manufacturing centers in China, Sweden and
Italy. Now we have more than 300 patented technology and 500 processing
technology. The Snowman Co. Ltd passed the accreditation 1SO9001.

1ISO14001. OHSAS18001 system and got the CE certificate, design &

manufacturing license of pressure vessel |l ll , ASME and fishery inspection

certificate of marine refrigeration pressure vessel.

Ammonia pressure vessel overview: Receivers, Second Ammonia

Receivers, Oil Collectors, Vertical LP Recirculator Vessels, Horizontal LP

Recirculator  Vessels, Vertical Liquid Separators, Horizontal Liquid
OPCON company from Sweden Refcomp company from Italy Greenhalgh company from China Separators, Manual Air Separators, Emergency Ammonia Discharging
Device, Horizontal LP Oil Collectors, Oil Separators, Recirculator Packages

(Surge Drum Packages).

01 02



AMMONIA AMMONIA |
Snaukeq | BECEVERS RECEIVERS SﬂDl.ll(QlI
Ammonia Receivers Technical data
Ammonia Receivers are used to regulate and stabilize the circulation rate of liquid refrigerant, and to store the liquid refrigerant.
e Design pressure: 2.1MPa.
Cylinder size (mm) Connector Size(mm) )
M Volume Net weight
odel No (m?) (ka)
L1 D N1 N2 N3 N4 N5 N6a, b N7 N8 Pl
ZA0.25 0.27 2000 400 ®18%x3.0 |®32x35 | ®18x3.0 | ®32x3.5 |®32%x35 | ©25x35 | @25%x35 [ ©76%6.0 | ®20%3.0 240
ZA0.5 0.52 1600 ®600 ®18x3.0 |®32x35 | ®18x3.0 | ®32x3.5 |®32%x35 | ®25x3.5 | ®25%x35 [ ©76%x6.0 | ®20%3.0 330
ZAO25_2O ZA1.0 0.99 3200 ®600 ®18%x3.0 |®32x35 | ®25x35 | ©®32x3.5 |038x3.5 | ©25x35 | ©25%x35 [ ©76%x6.0 | #20%3.0 520
6 4
g 9 E ZA1.5 1.69 3000 ®800 ®18%x3.0 |®38x35 | ®25x35 | ©32x3.5 |045%x4.0 | ©25%x35 | ©25%x35 [ ©76x6.0 | #20%3.0 830
> ©
© ® c
5 o % g g ZA2.0 2.19 4000 800 ®18%x3.0 [045x4.0 | ©25x35 | ©32x35 |057%x50 | ©25x35 | ©25x35 | 076%x6.0 | ®20x3.0 1030
ol EF Z I| Sla = 2
[ 19}
E _ ;f >> 2 § =3 z ZA2.5 2.59 4800 ®800 ®18x3.0 [®45x4.0 | ®32x3.5 | ®32x3.5 |057%x5.0 | ®25x3.5 | ®25%x3.5 | #76x6.0 | ®20x3.0 1190
S [Z 5 o S| a (o3
| R [ T © g
i ol 3 2 @ ? - M) Liguid Level ZA3.0 3.14 4540 ®900 ®18x3.0 [®57x5.0 | ®32x3.5 | ®32x3.5 |076%x6.0 | ®25x3.5 | ©®25x3.5 | #76x6.0 | ®20x3.0 1290
( N6a
[ TT ” m ﬁ ( ZA3.5 3.55 5200 ®900 ®18x3.0 [®57x5.0 | ®32x3.5 | ®32x3.5 |076%x6.0 | ®25x3.5 | ®25x3.5 | @76x6.0 | ®20x3.0 1440
100 L3 L4 L5 L6100
[] ZA5.0 4.98 3900 ®1200 | ®18x3.0 |©76%x6.0 | ®32x3.5 | ©®32x3.5 [©89x6.0 | ®25%x3.5 | d25%x3.5 [ ®76%x6.0 | ®20%3.0 2200
==Y I s | U o 7A6.5 6.50 3700 ©1400 | ©18%3.0 |©108%6.0| ©32x35 | ©32x35 |0108%x6.0| ©25x35 | ©25x35 | 076x6.0 | ©20x3.0 | 2524
= | 0
\ — f————— [] ZA8.0 8.00 4800 @ 1400 ®18%x3.0 |©108x6.0| ®32x3.5 | ©45x4.0 |®108%x6.0| ®25%x3.5 | ®25%x3.5 [ ©#76x6.0 | ®20%3.0 3080
= 120
T ) / — — ZA10 10.00 6200 @ 1400 ®18%x3.0 |®133x6.0| ®38x3.5 | ©45x4.0 |®133x6.0| ®25%x3.5 | ®25%x3.5 | ©76x6.0 | ®20%3.0 3770
Oil Drain + 4|3 ob—=—\ Liquid Level
N7 4—d * M N6b ZA15 15.00 5400 ®1800 ®18%x3.0 |®133x6.0| ®38x3.5 | ©45x4.0 |®159%x6.0| ®25%x3.5 | ®25%x3.5 [ ©#76x6.0 | ®20%3.0 5150
4 N S
! A Drain
‘ B1 ‘ L2 L1 N8 ZA20 20.00 7400 ®1800 ®18%x3.0 |®133x6.0| ®45x4.0 | ©45x4.0 |®159%x6.0| ®25%x3.5 | ®25%x3.5 [ ©76x6.0 | ®20%3.0 6490
B L
Note: 1. Above is standard product, customer design can be made.
2. Dimension may change due to product upgrade without further notice.
Model Main Dimension(mm) Bottom Support Size (mm)
N
° H H1 H2 L L2 L3 L4 IL'5 L6 A B B1 d
ZA0.25 766 408 500 2433 133 150 300 200 300 1200 380 260 ®20
ZA0.5 966 508 800 2133 183 150 250 250 200 900 550 400 ®©20
ZA1.0 966 508 800 3733 183 300 500 300 300 1900 550 400 ®20
ACC@SSOH@S Specmcatlon and Quamtlty ZA1.5 1249 610 1100 3635 235 300 500 300 300 1700 720 530 ®20
ZA2.0 1249 610 1100 4635 235 300 600 400 300 2400 720 530 ®20
Product Model  [240.25 | 205 [ a10 | za15 | za20 | za25 | za30 | 735 | 7860 | 7865 | za80 | zat0| zat5 | za20
- Application ZA2.5 1249 610 1100 5435 235 300 600 300 300 3400 720 530 ®20
Parts name Ql;;;nt\/ Accessories model and Spec.
Glass type liguid gauge| 1 =500 =800 L=1100 .=1400 L.=1700 .=2000 Level Gauge ZA3.0 1320 660 1100 5220 260 300 600 300 300 2900 810 590 20
Magnetic level 1| L=500 L=800 L=1100 L=1400 L=1700 1=2000 (6ither or) ZA35 1320 660 1100 5880 260 300 600 300 300 3500 810 590 ©20
Pressure gauge 1 0~4MPA 1.5level Pressure
ZA5.0 1628 814 1400 4739 339 300 600 300 300 2700 880 720 24
Pressure gauge valve | 1 DN10 RVY10 Gauge Set
Safety valve 1 DN15 1.85MPa DN20, 1.85MPa DN25, 1.85MPa DN32, 1.85MPa [DN40,1.85MP4| ZAB.5 1853 914 1700 4639 389 300 400 300 350 2500 1000 840 24
Welding neck fiange | 1pair [WN15(B)-25MFM WN20(B)-25MFM WN25(B)-25MFM WN32(B)-25MFM [WNAOB)-25VFM
Safety ZA8.0 1853 914 1700 5739 389 300 600 300 350 2800 1000 840 ®24
Wound gasket 2 | B15-25(0232) B20-25(0232) B25-25(0232) B32-250232) | BA0-250232) | |\ "o
A readedoor esets X0 V16XE5 ZA10 1853 914 1700 7139 389 300 600 300 350 4200 1280 840 ©24
Nut 16 M12 M16 ZA15 2232 1116 2000 6551 491 300 500 300 400 3800 1600 1120 24
Anchor Bolt 4sets M16X400 M20X400
ZA20 2462 1116 2000 8781 511 400 500 300 400 5400 1600 1330 24
03 04




Snoauikery | SO AMONA SECONDANIRe | Snmoukeyy

Second Ammonia Receiver Technical data

Second Ammonia Receiver is also known as siphon tank, widely applied to the refrigeration system with enough height difference
between the condenser and oil cooler to achieve thermo-syphon oil cooling. The liquid refrigerant in the Second Ammonia Receiver
flows into lower—position oil cooler by gravity, exchanges heat with oil, coming to liguid—-vapor state, returns to Second Ammonia
Receiver after separation. Gas refrigerant returns to condenser and exchanges heat in the condenser, finally changes into liquid
refrigerant and returns to Second Ammonia Receiver.

e Design pressure: 2.1MPa.

Volume Connector Size (mm) Net
I\/Icl>\l doel (m?) weight
FZA1.2-28 N1a, b, ¢ N2a, b N3 N4 N5 N6 (kg)
0 9 5 B FZA12 | 0.12 ©76%6.0 ©45%x4.0 ©25x%x3.5 ®32%x3.5 ®25%x3.5 ®76%6.0 1565
@ = c c @
; . ) = > 9 153 o % o
Pipe orifice schematic diagram % S g 2 5= EE 8= Fza2 | 020 ®89x6.0 ®76x6.0 ©25x3.5 ®32x3.5 ®25x3.5 ®76x6.0 195
oM
20 N3 N4 Niob = Lt Lo Lo FZA3.3 | 0.33 ®108x%6.0 ®89x%6.0 ®25x3.5 ®32x3.5 ®25x3.5 ®76x6.0 295
H TT FZAB2 | 0.52 ®©133x6.0 ®108x6.0 ©25x%x3.5 ®32%x3.5 ®25%x3.5 ®76%6.0 340
Overflow
Nic \ FZA10 1.00 ®159x6.0 ®133x6.0 ©25x%x3.5 ©45%x4.0 ©25%x3.5 ®76x6.0 615
- = 150 - i FZA17 1.70 ®©219x6.0 ®159%6.0 ©25%x3.5 ©45%x4.0 ®25%x3.5 ®76%6.0 1000
S T
N FZA28 2.80 ®©273x8.0 ®219x6.0 ©32x3.5 ®45%x4.0 ®25%x3.5 ®76%6.0 1520
- Oil outlet
N5 : R HERE J;;[ b
3| L — L
TS|a £ ©
|2 L2 L2 gz
B1 A
B L
L
Cylieer s Main Dimension(mm) Bottom Support Size(mm)
Note: 1. Above is standard product, customer design can be made. Model ( mm )
2. Dimension may change due to product upgrade without further notice. e L1 D H HA1 H2 L L2 L3 L4 L5 L6 A B B1 d
FZA1.2 | 1500 | ©®325 | 675 65 363 | 1855 | 300 200 200 200 200 {1100 | 300 210 ®©20
) - . . FZA2 1400 | ®416 | 766 80 408 | 1808 | 200 200 200 200 200 {1000 | 380 260 | 20
Accessories Specification and Quantity
FZA3.3 | 1500 | ©516 | 866 100 458 | 1956 | 200 150 300 250 250 |1000 | 460 330 | 20
FZA5.2 | 1600 | ®616 | 966 150 508 | 2096 | 300 200 200 350 200 {1100 | 550 400 ®©20
Product Model FZA1.2| FZA2 | FZA3.3 | FZAL.2 | FZA10 | FZA17 FZA28
Application FZA10 | 1800 | ®820 | 1170 | 180 610 | 2399 | 350 250 250 400 250 (1400 | 720 530 | @20
Parts name Quantity/set Accessories model and Spec
FZA17 | 1800 |®1024 | 1424 | 200 712 | 2653 | 200 200 250 400 200 {1200 | 760 600 | ©24
Safety valve 1 DN20, 1.85MPa DN25, 1.85MPa
Welding neck flange 1pair WN20(B)-25MFM WN25(B)-25MFM FZA28 | 2000 |®1228 | 1628 | 220 814 | 2857 | 250 250 300 550 280 |1300 | 880 720 | ©24
Safety Valve
Wound gasket 2 B20-25(0232) B25-25(0232)
Set
All threaded bolt 8sets M12X70
Nut 16 M12

05 06



Snouwkey | 9 ... coLec: | Snaouwkey

Oil receiver Technical data
Oil receiver is to collect lubrication oil, commonly used in ammonia refrigeration system. In ammonia refrigeration system, a little
lubrication oil will be taken out from refrigeration compressor to pipes and heat exchangers by high-speed refrigerant. The fact that oil Cylm(dn?rrns)lze Main Dimension(mm) Bottom Support N
film sticks onto the heat exchanger pipes, will reduce the heat exchanger efficiency. Model Size(mm) weight
e Design pressure: 2.1Mpa. No 5 D H HA Ho H3 Ha L B B1 (k)
JY150 459 ®159 726 152 250 491 350 - 150 106 17
JY150-300
JY200 654 219 959 196 475 730 500 - 210 160 32
8 JY300 939 ©325 | 1151 222 750 956 500 - 265 215 80
3
\ JY500 1054 ®500 1650 288 940 - 500 160 340 260 160
4 ,_ELB = 7Pressun;6auge
Oilinlet
Liquid leve| N1
g
(Ipy il
3 [] 0 2 Connector Size(mm)
Model
& No
n Ol drain N1a,b N2a,b N3 N4 N5 Pl
g l _( Nib
Liquid level gauge: } =
ST JY150 ©25%35 ©25%35 ©25%35 - - ©20%3.0
JY200 ®25x3.5 ®25x%x3.5 ®25x3.5 - - ®20x%3.0
Y-
A\
w18 |4 JY300 ®25x3.5 ®25x%x3.5 ®25x3.5 - - ®20x%3.0
JY500 ®25%x3.5 ®25%x3.5 ®25%x3.5 ®25%x3.5 NPT1-1/27 ®20%x3.0
JY500
Zﬂgg g2 é z
J - Accessories Specification and Quantity
Uqu'g;;g Product Model JY150 JY200 JY300 JY500
=|o] ﬂm—- Application
: . Parts name Quantity/set Accessories model and Spec
:
et 2 Safety valve 1 — DN20, 1.85MPa
%@refaﬂ | — O\!ﬂdbram
Liudlevel gauge 1 i f] i — WN20(B)-25 MFM
: : _‘l/ ;‘ Welding neck flange 1pair (B) Safety
Ar jA
— B20-25(0232
N \Wound gasket 2 ( ) Valve Set
f I All threaded bolt 8sets — M12X70
4 N3 Pl r\ |l
N2o.b i Nib J = Nut 16 —_ M12
" ¥ Glass type liquid gauge 1 L=350 L=500 Level Gauge
Mo N Pressure gauge 1 0~4MPa 1.5level Pressure
Weld angle stop valve 1 DNA1O Gauge Set
Note: 1. Above is standard product, customer design can be made.
Anchor Bolt 4sets M16X300
2. Dimension may change due to product upgrade without further notice.

07 08



ll’ LOW PRESSURE LOW PRESSURE
sna (El’ | CYCLE RESERVOIRS CYCLE RESERVOIRS | snal”(eq

Vertical LP Recirculator Vessel Technical data

LP Recirculator Vessel is used in ammonia pump liquid supply refrigeration system Its function is to ensure enough low pressure liquid
ammonia supplied to ammonia pump, as well as one liquid ammonia separator, so that only gas refrigerant flows to suction chamber

of compressor. Classified as vertical type and horizontal type.
e Design pressure: 1.6MPa. Volume Main Dimension (mm ) Net weiaht
Model No () (kg )9
D D1 H
LDX1.5 1.5 ® 800 ®1315 3600 670
LDX2.5 2.5 ® 1000 ®1515 3700 1050
LDX3.5 3.5 ® 1200 ® 1668 3800 1350
LDX1.5-5.0 LDX5.0 5.0 ® 1400 ®1872 3900 1820
200 Safet m
o —a 200
, 3 pu—
Gas ammonia inlet o~ Liquid level contrpller Gas ammonia outlet
NTa N10ag S N1b
o A N Pressure gauge c tor Si ( )
S | P| M&del onnector Size (mm
\ o]
Pressure port Lol D‘ N1a,b N2 N3 N4a,b N5 N6 N7 N8 N9 N10a,b Pl
N6 ol ﬁ L Ammonia pump liquid retum
o o NO LDX1.5 [©133%6.0 |©0133x6.0|045x4.0 (057 x5.0 [032%x3.5 [®38x3.5|038x3.5 [©038%x3.5 |©38%x3.5 [038x3.5|020x3.0
Defrosting liquid return % | |
N7 | Hﬁ © ) ) LDX2.5 [©159%6.0 |®133x6.0|045%x4.0 (057 x5.0 [#32x3.5 [®38x3.5|038x3.5 [©038%x3.5 |©38%x3.5 [©038x3.5|020x3.0
i Liguid ammonia supply
E] = N8 LDX3.5 [0219%6.0 |0133x6.0|045%x4.0 [076x6.0 [0#32x3.5 [®38x3.5|038x3.5 [©038%x3.5 |©38%x3.5 [©038x3.5|d20x%x3.0
LO)
4 -L-J- l LDX5.0 [©219%6.0 |®133x6.0|045%x4.0 [076x6.0 [®#38x3.5 [©38x3.5|038x3.5 [045%x4.0 |©38%x3.5 [038x3.5|®20x%x3.0
O (@]
— 00 3 !
Liquid level cpntroller = | R Liquid ammonia outlet
N10b ; I 1 Ndab
{ S = 2
! Ig|
Inspection hole: Accessories Specification and Quantity

5=

2

Product Model LDX1.5 | LDX2.5 | LDX3.5 LDX5.0

Application
Parts name Quantity/set Accessories model and Spec
270° E ] 1 90 Safety valve 1 DN25, 1.25MPa DN32, 1.25MPa
N7N6EN1a FNTbNBNY
| / Welding neck flange 1pair WN25(B)-25 MFM WN32(B)-25 MFM
/
/N/4b D] Wound gasket 2 B25-25(0232) B32-25(0232) Safety Valve Set
,/I
180" All threaded bolt 88sets M12X70 M16X85
Nut 16 M12 M16
Pressure gauge 1 -0.1~2.4MPa,1.5level
Pressure Gauge Set
Note: 1. Above is standard product, customer design can be made. Weld angle StOp valve 1 DN10

2. Dimension may change due to product upgrade without further notice.

09 10



LOW PRESSURE
CYCLE RESERVOIRS

Snaukey |

Vertical LP Recirculator Vessel

LP Recirculator Vessel is used in ammonia pump liquid supply refrigeration system Its function is to ensure enough low pressure liquid
ammonia supplied to ammonia pump, as well as one liquid ammonia separator, so that only gas refrigerant flows to suction chamber
of compressor. Classified as vertical type and horizontal type.

e Design pressure: 1.6MPa.

LDX7.0

200 ﬂe ym
200

. R =
Gas ammonia inlet N4H Liquid level canfroller I Gas ammonia outlet
N1a [NWOOO S j N1b
— | N Pressure gauge
(@] o
g} \ P
©
Pressure port #1600
b bl LT
N6 o § \ | Ammonia pump liquid retum
o N9
Defrosting liquid return | 53 O
N N Y Hﬁ
N7 o . .
s Liquid ammonia supply

N8

‘ ]
; \
%o 500

™
AE]»A;

S0 0| 8
< |
Liquid level gontroller ™| ‘ —] | Liquid ammonia outiet
r —
N10b| =] N4a,b
u i | o
0
Inspection hole
N2
£
Y
5= 11 Model
O o

Note: 1. Above is standard product, customer design can be made.

2. Dimension may change due to product upgrade without further notice.

1

LOW PRESSURE
CYCLE RESERVOIRS | snau’(eq
Technical data
Y
CI) Connector Size (mm)
Model m Net
No |m weight
el Niab N2 N3 | Ndab NG N6 N7 | N8 N9 [N10ab | P |(ka)
LDX7.0[7 |©273x8.0[0133%6.0[045 % 4.0|0 108 x6.0|038 x 3.5|038 x 35038 x 35057 x 5.0|038 x 3.5038 x 3.5|020 x 3.0(2810

Accessories Specification and Quantity

Parts name Quantity/set Accessories model and Spec Application
Safety valve 1 DN32, 1.256MPa
Welding neck flange 1pair WN32(B)-25 MFM
Wound gasket 2 B32-25(0232) Safety Valve Set
All threaded bolt 8sets M16X85
Nut 16 M16
Pressure gauge 1 -0.1~2.4MPa,1.5level
Pressure Gauge Set
Weld angle stop valve 1 DN10

12




Snaukey |

Vertical LP Recirculator Vessel

LP Recirculator Vessel is used in ammonia pump liquid supply refrigeration system Its function is to ensure enough low pressure liquid
ammonia supplied to ammonia pump, as well as one liquid ammonia separator, so that only gas refrigerant flows to suction chamber

LOW PRESSURE
CYCLE RESERVOIRS

of compressor. Classified as vertical type and horizontal type.

e Design pressure: 1.6MPa.

LDX10

Gas ammonia inlet

N1a

Pressure port

NB

Defrosting liquid return

N7/

4545

LOW PRESSURE
CYCLE RESERVOIRS | snam(eq
Technical data
Y,
0 Connector Size(mm)
Model | | Net
No |m weigh
Sl Nlab N2 N3 | Ndab N5 N6 N7 | N8 N9 |[Ntoap | P | K9

Note: 1. Above is standard product, customer design can be made.

2. Dimension may change due to product upgrade without further notice.

13

il drain

Oi

NS

|
200 ﬂfﬁfty valve
S e 3 200
=
m  —
o~ Ligudlevelcoptrdler [ || Gasammoniaoutiet
L N10a | | = . N1b
1 /;
o 8 \ N Pressure gauge
¥y) A P
“ |
ol 8%0 0
o ‘ | - Ammonia pump liquid retum
5B | o N9
o~ - | 3
o i
S \ . .
i Liquid ammonia supply
‘ 7 _ N8
O
< AN
O ‘ <
‘ o b 200] R
Liquid level cgntroller ‘ é_ Liquid ammonia outlet
N10b 1 ! N4a,b
i O
L0

LDX10{10[®273%8.0(® 133 % 6.0

®45%x4.0{0108 x6.0

®45x4.0{038x3.5038*x3.5057 x5.0

®38x3.5|038x3.5020x3.0

3580

Accessories Specification and Quantity

Parts name Quantity/set Accessories model and Spec Application
Safety valve 1 DN40, 1.256MPa
Welding neck flange 1pair WN40(B)-25 MFM
Wound gasket 2 B40-25(0232) Safety Valve Set
All threaded bolt 8sets M16X85
Nut 16 M16
Pressure gauge 1 -0.1~2.4MPa,1.5level
Pressure Gauge Set
Weld angle stop valve 1 DN10

14



LOW PRESSURE LOW PRESSURE
Snaul(eq | CYCLE RESERVOIRS CYCLE RESERVOIRS | Snaukeq
Horizontal LP Recirculator Vessel Technical data
LP Recirculator Vessel is used in ammonia pump liquid supply refrigeration system, its function is to ensure enough low pressure
liquid ammonia supply to ammonia pump, also as liquid ammonia separator, so that only gas refrigerant flow to suction chamber of . ,
Cylinder size Connector Size(mm) Net
COMpressor. Model [VOUTe|  (mm) weight
e Design pressure: 1.6MPa. No ) L1 D N1ab N2 N3 N4 N5a,b N6 N7 N8 N9 N10 (kg)
WDX1.5| 1.50 | 3000 | 800 |[®108%x60|®25%x35| ©159%x6.0 | ©25x35 | ®38x3.5 | 045x40 | ©57x50 | ®38x35| ®25x35 | ®38x35 | 860
WDX2.5| 2.50 | 3000 | 1000 | ®159%x60 | ®25x35 | ®219x6.0 | ©25x35 | ®38x35 | 045x40 | ®57x50 | ©38x35| ©025x35 | ©38x35 | 1130
WDX1.5-6.5 WDX3.5 | 3.50 | 3000 | 1200 | ©150x60 | ©25x35 | ©219%60 | 025x35 | ©38x35 | 045x40 | 076x60 | 038x35| 025x35 | 038x35 | 1450
WDX5.0 | 5.00 | 3200 | 1400 | ®219x60 | ®38x35 | ®273x80 | ®25x35 | ®#38x3.5 | ®#45%x40 | ©76%x6.0 | ®38x35| 025%x35 | ©45x40 | 1915
WDX6.5| 6.50 | 3600 | 1400 | ®219x60| ®45x4.0 | ®273%80 | ®25x35 | ©®38x3.5 | ©45%x40 | d76x6.0 | ®38x3.5| ©25x35 | ®57x50 | 2910
o g WDX9.0 | 900 | 3800 | 1600 | ©219x60 | ®45x40 | ®273%x80 | 025x35 | 038%x35 | 045x40 | ©®89%x6.0 | 38%x35| ©25x35 | ©57x50 | 3510
= - a
s % “5) WDX12 | 12.00 | 4000 | 1800 | ®219%x6.0 | ®45x4.0 | ®273x80 | ®25x35 | ©®38x35 | ©45x40 | ©#89%x6.0 | ®38x35| ©25x35 | ®57%x50 | 4650
*G—J‘ o [}
§ = § o § . —_— WDX15 | 15.00 | 4000 | 2000 | ®273%x80| ®57x50 | ®325x80 | ©25x35 | ©®38x3.5 | ©45x40 [ ®108%6.0 | ®38%x3.5| ©25x35 | @76x6.0 | 5170
. f i o level WDX20 | 20.00 | 5000 | 2200 | ®273x80 | ©57x50 | 32580 | ©25x35 | ©38x3.5 | 045x40 | ©108x60 | ®38x35| 025x35 | ©76x60 | 7990
NN
E gas discharge: | Ga
Gasinlet | Ammonia pump N9 Liquid inletf N9
D Nia liquid return inlet &, (CTYNib Nia,b N8
8{\/ NG p— N T §] ,
o iNcull @
L3 [ L3
Main Dimension(mm) Bottom Support Size(mm)
|—l L " _ = Model No
l}d i 1 pacld fevel H H1 H2 L L2 L3 L4 L5 L6 L7 L8 L9 A B B1 d
¥ % Y N5 WDX1.5 1349 710 1100 3335 450 1100 250 450 500 650 250 200 1800 720 530 24
A
LL‘ TR WDX2.5 1449 810 1100 3435 450 1100 250 450 500 650 250 200 1800 760 600 24
3,
% % - % WDX3.5 1549 910 1500 3535 500 1100 250 450 500 650 250 200 1800 880 720 24
Ol|ln o= o|=
o= [e] g= WDX5.0 1924 960 1700 3574 500 1170 300 500 600 800 250 200 2000 1000 840 24
g g
- - WDX6.5 2078 1114 1700 4378 500 1510 300 500 600 1100 250 200 2400 1000 840 24
WDX9.0 2228 1214 2000 4678 500 1550 350 500 800 1100 250 200 2800 1120 960 24
WDX12 2556 1340 2000 4982 550 1600 350 500 800 1300 250 200 3000 1280 1120 24
\WDX9.0-20 WDX15 2756 1440 2400 4992 550 1600 350 500 800 1300 250 200 3000 1420 1260 24
WDX20 2960 1542 2400 6046 600 2000 450 550 1000 1800 300 200 3800 1580 1380 24
2 5
g o o
> > >
2 sl e
o= al= N2 N3 N&
u R Liquid evel
[ ]_—[ i — Accessories Specification and Quantity
16 m”&@”‘ﬁ pump 5 Gad
Gas inlet | Ammonia pump w inlet] N9
O\ Nia liquid return {N1b
g[\/ N 51 N1ab N§
- B Hamepiate, B Product Model WDX1.5 [ WDX2.5 | WDX3.5 WDX5.0 WDX6.5 | WDX9.0 | WDX12 | WDX15 | WDX20
Application
~ Parts name QL;a”mV Accessories model and Spec
|—l | 12 T 12 12 T 12 i rl = Ee
1 ) | Safety vaive 1 DN20, 1.25MPa DN32, 1.25MPa DN40, 1.25MPa DN50, 1.25MPa
$ L-d \% N5b
A Welding neck flange 1pair WN20(B)-25 MFM WN32(B)-25 MFM WN40(B)-25 MFM WN50(B)-25 MFM
‘ A |
N6 N7a~d — _ _ —
5= E. s e Oe Wound gasket 2 B20-25(0232) B32-25(0232) B40-25(0232) B50-25(0232) Safety Valve Set
512 S5E 5 = Bl=
ol o & =z =2 Allthreaded bolt 8sets M12X70 M16X85
> 3 > >
kel o kel g
— — — — Nut 16 M12 M16
Pressure gauge 1 -0.1~2.4MPa,1.5level
Pressure Gauge Set
Weld angle stop valv 1 DN10

Note: 1. Above is standard product, customer design can be made.

2. Dimension may change due to product upgrade without further notice.

15 16



ERECT AMMONIA ERECT AMMONIA
sna’”(eq | SEPARATORS SEPARATORS | sna‘” (Ell

Vertical Liquid Ammonia Separator Technical data

Vertical Liquid Separator is used to separate the liquid ammonia from suction gas ammonia to prevent the liquid

ammonia from flowing into compressor and causing liquid-strike.

e Design pressure: 1.6MPa. Model No Cvinder sze(mm) e Dmensontmm Ne} \livgei)ght
HO D H HA H2 B B1 d

LAF700 1500 ®700 1972 750 200 ©1070 ®990 024 350

LAF1000 1800 ©1000 2423 900 250 ©1476 | ©1340 ©30 760

LAF700-2400 LAF1200 1800 ®1200 2523 900 250 ©1677 1541 ®30 910

LAF1400 2300 ©1400 3127 1200 300 ©2013 | ©1873 ©30 1550

LAF1800 2300 ©1800 3331 1200 350 ©2459 | ©2279 ©30 2485

LAF2000 2300 ©2000 3435 1200 400 02704 | ©2524 ©30 3290

LAF2400 2300 ©2400 3639 1200 400 ©3110 | ©2930 ©30 4220

Ve Connector Size(mm)

. Nia,b N2 N3 N4 N5a,b NG N7 PI
| {\ \5‘ LAF700 | ©133x6.0 | ®89x6.0 | ®32x35 | ©38x35 | 038x35 | ©38x35 | ©32x35 | ©20x3.0
Satty vave | S S T S —— S L o LAF1000 | ®159x6.0 | ®108x6.0 | ©32x35 | ©38x35 | ©38x35 | ©45x4.0 | ©32x35 | ©20x3.0
ﬁw‘ E’ Cap amonia ot oA LAF1200 | ©219x6.0 | ®133x6.0 | ©32x35 | ©38x35 | 038x35 | ©57x50 | ©32x35 | ©20x3.0
- | : LAF1400 | ©273x8.0 | ®133x6.0 | ©32x35 | ©38x35 | 038x35 | ©76x6.0 | ©32x35 | ©20x3.0
| LAF1800 | ®325x8.0 | ®159x6.0 | ®38x35 | ®38x35 | ©38x35 | 076x6.0 | ©32x35 | ©20x3.0
as ammoni |_ o | Rgmepkate LAF2000 | ©377x10.0 | ®219x6.0 | ®38x35 | ©38x3.5 | 038x35 | ©89x6.0 | ©32x35 | ©20x3.0
Nia ™= | LAF2400 | ©426x12.0 | ®219x6.0 | ©45x4.0 | ©38x3.5 | 038x35 | ©89x6.0 | ©32x35 | ©20x3.0

D% 1200, G ammoniaine
4 | == T
Liquidlevel! S =
i | ==l |

Accessories Specification and Quantity

Qildrain o ) ! gi
V) =t L&
ElE=N
8 =z
'%
Product Model LAF700 |LAF1000[LAF1200|LAF1400|LAF1800|LAF2000 LAF2400
: Applicati
Parts name QL;:Q;”W Accessories model and Spec ppication
Safety valve 1 DN25, 1.25MPa DN32, 1.25MPa | DN40, 1.25MPa
Welding neck flange 1pair WN25(B)-25 MFM WN32(B)-25 MFM [WN40(B)-25 MFM
Wound gasket 2 B25-25(0232) B32-25(0232) | B40-25(0232) VSIafet%/ t
Al fhreaded bol 8sets M12X70 M16X85 ave =e
Nut 16 M12 M16
Pressure gauge 1 -0.1~2.4MPa,1.5level Pressure
Weld angle stop valv 1 DN10 Gauge Set

Note: 1. Above is standard product, customer design can be made.

2. Dimension may change due to product upgrade without further notice.

17 18



HORIZONTAL
AMMONIA SEPARATORS

Snaukey |

Horizontal Liquid Ammonia Separator

Horizontal Liquid Ammonia Separator is used to separate the liquid ammonia from suction gas ammonia to prevent the liquid

ammonia from flowing into compressor and causing liquid-strike.
e Design pressure: 1.6MPa.

WAF800-1600

Pressure gauge
Pl

>,
— ] Gas outlet
NG

Safety valve
N4

Liquid level controller
Ne fl

o]l=]

10011200300
as inlet Gas inlet
A N2g N2bk,
\“Jﬁg(ﬂ L\%wd inlet L3/2 s
L3 2
Nareplat ]
[P~
L2
$89x6.0
Liquid level cdntroller | [l \# }*LL O\Ingain | o 4—d
N1b e = wﬁ
e =k
g A
L1
L

Drain
N7

Note: 1. Above is standard product, customer design can be made.

2. Dimension may change due to product upgrade without further notice.

19

250,

N2a,b |

= {%#
(N

N4PING L4

H1

Technical data

HORIZONTAL
AMMONIA SEPARATORS

| Snoukey

— Cyli?nier;)size Main Dimension(mm) Bottom Support Size(mm)
N D L1 L H H1 H2 | H3 H4 L2 L3 L4 A Al B B1 d
WAF800 | ®800 | 1800 | 2266 | 1316 | 708 | 1100 | 200 | 150 | 300 | 1600 | 550 | 1100 | 150 | 720 | 530 | ®20
WAF1000 | 1000 | 2300 | 2870 | 1520 | 810 | 1400 | 250 | 150 | 400 | 2000 | 650 | 1600 | 170 | 760 | 600 | ®24
WAF1200 | 1200 | 2300 | 2970 | 1720 | 910 | 1400 | 300 | 150 | 400 | 1950 | 750 | 1600 | 170 | 880 | 720 | ®24
WAF1400 | ®1400 | 2800 | 3574 | 1924 | 1012 | 1700 | 350 | 200 | 500 | 2400 | 850 | 2000 | 170 | 1000 | 840 | ®24
WAF1600 | 1600 | 2800 | 3674 | 2178 | 1164 | 2000 | 400 | 200 | 500 | 2300 | 950 | 2000 | 200 | 1120 | 960 | ®24
Model Connector Size(mm) Volume vaeiegtht
Noo T\1ab | Neap | N3 N4 Pl NG N7 NS N9 m) (ka)
WAF800 | ®38x3.5| ®89%6.0 | ®38x3.5|®32x3.5|®20x3.0| ®89%x60 | ©57x50 | ®25x3.5| ®45%x4.0| 1.06 540
WAF1000| ®38x3.5 |0 108 x6.0| ®38%x3.5|®32x3.5|®20x3.0| ©108x6.0| ©57x50 | ®25x3.5| ®57x50| 2.10 1000
WAF1200| ©38x3.5 |0 133x6.0| ®45%x4.0| ©32x3.5|®20x3.0| ©133x6.0| ®57x50 | ®25x3.5| ®76x6.0| 3.10 1200
WAF1400| ©38% 3.5 |0 159%6.0| ®45x4.0| ®32x3.5| ®20x3.0 | 159x60| ®57x50 | ®25x3.5| ®89%x6.0| 5.10 1960
WAF1600| #38%x3.5|0219%x6.0| @57 x5.0{ ®38%x3.5[®20x 3.0 | ©219x60| ®57 x50 | #25x3.5|0108%x6.0| 6.80 2390
Accessories Specification and Quantity
Product Model WAF800 | WAF1000 | WAF1200 | WAF1400 WAF1600
Parts name Quantity/set Accessories model and Spec Application
Safety valve 1 DN25, 1.256MPa DN32, 1.256MPa
Welding neck flange 1pair WN25(B)-25MFM WN32-25MFM
Wound gasket 2 B25-25(0232) B32-25(0232) \/gla\]/feetget
All threaded bolt 8sets M12X70 M16X85
Nut 16 M12 M16
Pressure gauge 1 -0.1~2.4MPa,1.5 level Pressure
Weld angle stop valv 1 DN10 Gauge Set
20




Snaukey | 'R

SEPARATORS

Manual Air Separator

Manual air separator is used to separate non-condensable gas from ammonia gas in the refrigeration system, by cooling down the

non-condensable gas and ammonia gas together to condense ammonia gas to liquid, meanwhile separating non-condensable gas

out of refrigeration system, reducing the effect on refrigeration system and improving cooling efficiency.

e Design pressure: 2.1MPa.

KF32B-50B

— Gas ammonia outlet

N2

Pipe orifice schematic diagram

=
—1—

o o ¥ Mix gas inlet |
w - b-H-— - g ———— T - airoutet © %[‘”
=l | M) (N4) _J?_ X i i N3 60 ‘
ol |AL_| mJ;u \
g g
[l ||
THHo ¥
‘ —L I i I
I —J H —
L2 L3
L
Note: 1. Above is standard product, customer design can be made.
2. Dimension may change due to product upgrade without further notice.
Technical data
Main Dimension(mm) Bottom Support Size(mm)
Model No
D L L1 L2 L3 L4 H1 H2 A A1 B B1
KF32B ®108 1593 140 225 110 170 65 179 1000 50 140 100
KF50B ®©219 2910 205 375 180 285 130 334 1900 50 260 200
Connector Size(mm)
Model No
N1 N2 N3 N4 N5 N6
KF32B ©25%x3.5 ©25x3.5 ®©14x3.0 ©18x3.0 ©18x3.0 ©18x3.0
KF50B »®25x3.5 ®32x3.5 ®18x3.0 »®25x3.5 ®18x3.0 ®18x3.0

21

EMERGENCY
DRAINERS

| Snoukey

Emergency Ammonia Discharging Device

Emergency ammonia discharging device is one emergency relief device, often connected to the vessel that stores great amount of
liquid ammonia in the system. When emergency situation happens, tap on the discharge valve of emergency discharging device and
water valve to discharge the ammonia together with water.

e Design pressure: 2.1MPa.

XA100

|
|
Ammonia et _ A — =] — | Ammonia vater outiet
N1 i s N2
|
|
1280
Note: 1. Above is standard product, customer design can be made.
2. Dimension may change due to product upgrade without further notice.

Technical data

Connector Size(mm)
Model No
N1 N2 N3
XA100 ©38x3.5 ©57x5.0 ®38x3.5

22



HORIZONTAL LOW HORIZONTAL LOW
snau,(eq | PRESSURE OIL COLLECTORS PRESSURE OIL COLLECTORS | snam(el’

Horizontal LP Oil Collectors Technical data

Horizontal low pressure oil collector is used to collect the lubrication oil from the LP Recirculator Vessel.
e Design pressure: 1.6MPa

Connector Size(mm)
Model No
DJY1 N1 N2 N3 N4 N5 Pl
DJY1 ®18x3.0 ®45x4.0 ®18x3.0 ®18x3.0 ®38x3.5 ®20x3.0

(0]
(@]
>
©
(@]
(0]
<
S| __
2|00 £
Q o a
o = o -
S © 2|2 5
N = E% 0| < 5| =
4 A 2 = = o S| =
_/_ © © o 4
©
~, 0] )

Accessories Specification and Quantity

|
| W |
= 50 ‘\
D | |
e { - 7‘, 4 | Namdplate—|- S 4 - Parts name Quantity/set Accessories model and Spec Application
| |
‘ ‘ Pressure gauge 1 -0.1~2.4MPa,1.5level
‘ Q. | Pressure Gauge Set
| \ Weld angle stop valv 1 DN10 RVY10
y T
i ) @ . Safety valve 1 DNA5, 1.25MPa
3 400 ‘ 100 Welding neck flange 1pair WN15(B)-25 MFM
[0}
= A ~-
g 2 “” ~oq, 4-914 Wound gasket 2 B15-25(0232) Safety Valve Set
| |
oo Allthreaded bolt 8sets M12X70
SE
| |
| Nut 16 M12
Fan - -
hd 4
620
~ /80

Note: 1. Above is standard product, customer design can be made.

2. Dimension may change due to product upgrade without further notice.

23 24



Snoukey | eaoks serarators | Sauiceyy

Oll Separator Technical data

Oil separator is used to separate the lubrication oil from the gas refrigerant discharged from the compressor. In refrigeration system,
there is always a considerable amount of lubrication oil going out of compressor with refrigerant. By reducing gas flow velocity and
changing gas flow direction, it makes the oil droplets to settle and being separated from high pressure gas refrigerant by gravity.

Meanwhile, the mesh in the oil separator enhances separation efficiency. The separated oil in oil separator flows back to compressor Cylinder size(mm) Main Dimension(mm) .
o o . . - A Model | Volume Net weight
to ensure lubrication and prolong compressor service life, at the same time, make the less oil remain in the low pressure side of No (m?) (kg)
refrigeration system to improve the refrigeration efficiency. H1 D H L1 L2 A B d
o Design pressure: 2.1MPa. LYFA-65 | 0.06 660 ©325 1185 120 120 200 280 018 110
LYFA-80 0.12 760 426 1290 140 150 240 320 ®18 180
LYFA65-200
" LYFA-100 0.21 820 ®500 1350 180 160 280 360 022 250
O
% - ® % LYFA-125 0.33 880 ®600 1550 210 180 340 420 22 320
ela - g
3 8= ;3 Z LYFA-150 0.51 980 ®700 1690 250 200 400 480 22 410
= ©
[a B (%)
— LYFA-200 2.22 2400 ®1000 3440 300 240 650 740 24 1100
‘ (@)
BT
| |
LT LT
(@) A
O N Connector Size ( mm)
I Gas outlet Model No
N | N2 N1/N2 N3 N4 N5 N6 Pl
amsfp\ate
150
LYFA-65 ©76x6.0 ®25x3.5 ®25x3.5 ®89x6.0 ®25x3.5 ®20x3.0
Dl —|T LYFA-80 ®89x6.0 ®25x3.5 ®25x3.5 ®89x6.0 ®25x3.5 ®20x3.0
I
LYFA-100 ®108x%6.0 ®25x3.5 ®38x3.5 ®89x6.0 ®25x3.5 ®20x3.0
LYFA-125 ®133%6.0 ®32x35 ®38x35 ®89x6.0 ®25x3.5 ®20x3.0
60 f ;@k ‘ LYFA-150 ®159%6.0 ®32x35 ®45x4.0 ®89x6.0 ®25x3.5 ®20x3.0
Qil drain hole &_:7 g CS)\ght g’\“aSSS
N4 g o LYFA-200 ®219%6.0 ®32x35 ®57x5.0 ®89x6.0 ®25x3.5 ®20x3.0
Accessories Specification and Quantity
Product Model LYFA-65 | LYFA-80 | LYFA-100 |LYFA-125 | LYFA-150 | LYFA-200 P—
pplication
Parts name Quantity/set Accessories model and Spec
Safety valve 1 DN20, 1.25MPa DN25, 1.25MPa
Welding neck flange 1pair WN20(B)-25 MFM WN25(B)-25 MFM Safet
afety
Wound gasket 2 B20-25(0232) B25-25(0232)
Valve Set
All threaded bolt 8sets M12X70
Nameplate Nut 16 M12
Note: YE-200 adopt support bracket. Pressure gauge 1 -0.1~2.4MPa,1.5level Pressure
Weld angle stop valv 1 DN10 Gauge Set

Note: 1. Above is standard product, customer design can be made.

2. Dimension may change due to product upgrade without further notice.

25 26



Snoukey | i “towe our | Snowkey

Recirculator Packages/ Surge Drum Packages Technical data

Recirculator Package consists of horizontal LP Recirculator Vessel, shielded ammonia pump, electric control box and steel support
frame etc., applies to ammonia pump liquid supply refrigeration system. Piping, valves, automatic control component, and electrical

component forms recirculator package into one integrated liquid supply device. Recirculator Package has functions like: automatic

Overall Dimensions (mm
liquid supply; liquid level control, high liquid level alarm and ammonia pump automatic protection and etc. Model No \Volume Iilaq[v;/ Lead p'\)/cl)?/agr ( ) ngh
e Design pressure: 2.1MPa. (m?) (me/h) (m) (kW) A Al B B1 H H1 H2 H3 (kg)

CP2C3-15-A | 15 3 40 | 3.0x2 | 3775 | 2020 | 1790 | 1320 | 3470 | 2000 2550 800 2210

CP2C3-1.5-A ~ CP4C12-20-A CP2C3-2.5-A | 2.5 3 40 | 3.0x2 | 3775 | 2020 | 1790 | 1320 | 3670 | 2000 | 2650 | 800 | 2590

CP2C6-3.5-A | 3.5 6 40 | 3.0x2 | 3775 | 2020 | 1790 | 1320 3860 | 2000 2730 800 2800

CP2C6-5.0-A | 5.0 6 40 | 3.0x2 | 4100 | 2680 | 2190 | 1705 | 4650 | 2530 3420 | 1320 | 3330

CP2C6-6.5-A | 6.5 6 40 | 3.0x2 | 4450 | 2680 | 2190 | 1705 | 4650 2530 3420 | 1320 | 4590

CP3C3-6.5-A | 6.5 3 40 | 3.0x3 | 4450 | 2680 | 2190 | 1705 | 4650 | 2530 3420 | 1320 | 4590

CP3C12-9.0-A| 9.0 12 40 | 4.0x3| 4530 | 3100 | 2265 | 1820 | 4850 | 2700 3520 | 1500 | 5380

CP4C6-9.0-A | 9.0 6 40 | 3.0x4 | 4530 | 3100 | 2265 | 1820 | 4850 2700 | 3520 | 1500 | 5380

Pressure gauge/
Pressure gauge Pressure Sensor
Gas outletsg? Safety valve

[ NI
4

7 Gas inlet b ] CP4C12-20-A| 20 12 40 | 4.0x4 | 5260 | 3520 | 2860 | 2100 | 5450 | 2700 3820 | 1650 | 7430

CP4C12-12-A | 12 12 40 | 4.0x4 | 5020 | 3300 | 2460 | 1960 | 5050 | 2700 | 3620 | 1500 | 6650

CP4C12-15-A | 15 12 40 | 4.0x4 | 5130 | 3300 | 2660 | 1960 | 5250 | 2700 | 3720 | 1650 | 6650

U
T
N
- Connector Size(mm)
- E Model No
T E Lig N1 N2 N3 N4
CP2C3-1.5-A ©159x6.0 ©108x6.0 ©38x3.5 ©45%4.0
CP 2C3-2.5-A ©219x6.0 ©159x6.0 ©38x35 ©45x4.0
CP 2C6-3.5-A ©219x6.0 ©159x6.0 ©38x3.5 ©57x5.0
| e CP 206-5.0-A ©273x8.0 ©219%x6.0 ©45x4.0 ©57x5.0
| - | = | CP 2C6-6.5-A ©273%8.0 ©219%6.0 ®57%5.0 ©57x5.0
CP 3C3-6.5-A ©273x8.0 ©219%x6.0 ©57x5.0 ©57x5.0
CP 3C12-9.0-A ©273x8.0 ©219x6.0 ©57 5.0 ©76x6.0
CP 4C6-9.0-A ©273x8.0 ©219%x6.0 ©57x5.0 ©76x6.0
CP 4C12-12-A ©273x8.0 ©219x6.0 ©57x5.0 ©89x6.0
CP 4C12-15-A ©325x8.0 ©273x8.0 ©76x6.0 ©89x6.0
CP 4C12-20-A ©325x8.0 ©273x8.0 ©76x6.0 ©108x6.0

Note: 1. Above product is a standard one. It can be made according to customer design. Dimension may change due to product upgrades without further notice.

2. The package includes oil collector.

27 28



Snoukey | g RO | SPoukely

Flow chart of Duplex Recirculator Package Control Principle and Auto—Control Program Diagram

Control Principle Main liqui Normal liquid level N
- quid supply Main liquid supply
and Auto-Control solenoid valve open control to upper solenoid valve close

Program Diagram liquid level

) |
g 5 i ——
o £ ! Uttrahigh liquid level Soundand R Shut off
5 ® o @ i control to upper light alarm compressor
throttle 2 9 o | liquid level
? @ S 2
o @ o 2 |_
Q) o o
§ g é X E % § Control box P pr—
z . o - Q- controller 20 seconds Sound and Shut off
Q \V; f .
3 g 8 A |_|><15| |_ e not reach setting value light alarm ammonia pump
P() — H
w o M |
o >
i il
o
O n LP Recirculator Vessel % O % ' Cold storage temperatqre Manual start-up . Ammonia pump
Gas retum Gas retumn 8 | controller to upper fimit ammonia pump start-up
% l —J—L— l - Liquid level under
- — lower limit,
YT y—i_ y y | liquid supply firstly.
o) =
= 2 @
Q = o
)
% § o8 - £ Cold storage temperature Manual shut off Ammonia pump
o s g 2 T8 ¢® controller to lower fmit ammonia pump shut off
« = £
E= =5 2,-4 |ils
i g £ 272 £l =
1= v = |V _ = £x§ ax Wwx
|_ ( @Oil receiver )

ZFI_'XI_

Pressure differerftial controller
Quick release valve

Pressure differential cohtro\ler

&)
S

@}

o Amimonia pump1 o \ Ammoniia pump2

= 1 = |-l —_ ]

e = }

2 check valve 2 check vlalve

= g

& >

o Ioa) |
e

Liquid oﬁlet pipe

Note: The flow chart of triple and quadruple recirculator package have three and four ammonia pumps in above dashed frame, other parts are the same.

29 30



